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Zima_2010 Turniej Baśka 2 - 12.01.2010

 
M-CE NR                                +/-  RAZEM  PKL PDF  
---------------------------------------------------------------

  1   5 Rafał Konieczny       7.0 KP         72.57  14  23     

        Tomasz Lubiewski      2.5 KP

  2   8 Grzegorz Sokołowski   2.5 KP         31.43  11  19     

        Mikołaj Woyna         4.0 PM   

  3  15 Stefan Pigla          4.0 KP         26.29   7  17     

        Stanisław Ciesielski  4.0 KP

  4  13 Adam Tomczak          2.5 KP         17.71   4  15

        Bogdan Zieliński      4.0 KP

  5   3 Lech Łaniewski       12.0 KP         17.43   3  13

        Maciej Łaniewski      4.0 KP

  6   7 Mariusz Krakowiak     2.5 KP          6.43   2  11

        Tomasz Nadolski       2.5 KP

  7   2 Michał Lewiński      12.0 LB         -0.29   2  10

        Rafał Szafranek       1.5 KP

  8   4 Mariusz Bielski       1.5 KP         -2.29   1   9

        Tomasz Kupczyk        2.5 KP

  9  12 Jarosław Żurawski     1.5 KP         -4.86       8

        Stanisław Łański      7.0 KP

 10   9 Adam Kozłowski        2.5 KP         -9.00       7

        Wiesław Wozniak       2.5 KP
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 11  11 Marek Warda           2.5 KP         -9.71       6

        Zygmunt Stogowski     7.0 KP

 12   6 Jerzy Rosenthal       1.5 KP        -12.14       5

        Jacek Rosenthal       1.5 KP

 13  16 Alicja Kupczyk        4.0 KP        -16.86       4

        Roman Wachowiak      18.0 KP

 14   1 Janusz Plewa          7.0 KP        -29.86       3

        Katarzyna Kitowska    1.0 KP

 15  10 Michał Dolny          1.0 KP        -30.86       2

        Marek Marciniak       1.0 KP

 16  14 Hilary Gierszewski                  -56.00       1

        Wojciech Ruszkowski         

                            -----

                  Suma WK = 127.0  
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